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ALGORITHMS

fauifa ama . 3 W) (FAferhan 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
P (i) ww-vaAdTEEAG feaHd

Note : There are THREE sections in the paper A, B and C.

i) Q- X G 1 F @ 10 9 & I G | A YT U 3% T8
g @1 10 971 TGAE TR F T # 8 |

Answer all the 10 parts of the question No. 1 in Section — A. Each part
carries one mark and all 10 parts have objective type questions.

(i) FmA-a 8 5w 4 @ fEE 6 3wl & IR A | TP T 3 3% H1 8 T
7T 5 I / 50 KT 4 I ST /|
Answer any 6 questions out of the 8 questions in Section — B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

iv)  FA-F % 6 S 7 @ fel 4 T F I G | TAF 5T 8 Hh F 3 T
g7 15 3T / 150 9I&H 4 I G |
Answer any 4 questions out of the 6 questions in Section — C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

() T a9 & @4 T 1 FHER O HE B BT |
Solve all the questions of a section consecutively together.

(vi) aﬁwﬁﬁmﬁ##@ﬁﬁaﬁsﬁmﬁma‘f

Only English version is valid in case of difference in both the languages.

A - T
Section — A
L () FeidsRa@eaR ?
e 1 wafiia faan st aehd @ -
(a) TSI HEHEIH (b) Tt HEaH
(c) WM FEIH (d) AR €9 H

Which of the following is incorrect ?

Algorithms can be represented :

(a) as pseudo codes (b) assyntax

(c) as programs (d) as flow charts

(1 of 4) P.T.O.
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Gi)y v @ s siewia dur 2 fed o o dee % w9 H U 8 3 9
3T GeheT 2 |
(a) WedHL (b) FTETE &
() # (d) I8 TE

is an unordered collection of elements where an element can occur as
member more than once.

(a) Multiset (b) Ordered set
(c) Set (d) None
(iii) e |1 venfem &1 sitga e s 2 7
(a) O(N?) (b) O(N)
(c) O(N LogN) (d) O ((logN)
What is the average running time of a quick sort algorithm ?
(a) ON? (b) O(N)
(¢) O(N LogN) (d) O(logN)

(iv) GomEa Hrafiwn? ?
(a) 3@ EES wyfd i SEavEHa 2 |
(b) ¥=THetaa (AT9HE) TE 2 |
(c) 39 oY Foll = fore 3ugm o snasar 2 |
(d) oW UEtHe %1 |iE A & THY s gig #idt 2 |
What is the disadvantage of selectin sort ?

(a) it requires auxiliary memory. (b) it is not scalable.
(c) it can be used for small keys. (d) it takes linear time to sort the elements.

(v) U el A Haferd @ st Wk e o a3 g e A 6 ged sfus sia i 2
(@ 1 (b) 3
(¢) 2 d 0

A binary tree is balanced if the difference between left and right subtree of every
node is not more than

(@ 1 (b) 3

(c) 2 (d 0
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(vi) e TE T T H Saeifehe e o 1 61 S Fehdl & |

(a) ©HF (b) fearda
(c) @ (d) EgTUERE
The topological sorting of any directed Acyclic Graph can be done time.
(a) cubic (b) quadratic
(¢c) linear (d) Logarithmic
(vii) qﬁé—wwﬁmmmwmm% ?
(a) a i T (b) rafiE o
(c) =gam Xl (d) gFam wm g

Ford-Fulkerson algorithm uses the idea of —
(a) Naive Greedy Approach (b) Residual Graphs

(¢) Minimum Cut (d) Minimum Spanning Tree
(viii) 27 1 38 &9 & oft T AR
(a) fesflead (b) 2w
(c) amEAIEIA ¢ (@ 23%
Trie is also known as
(a) Digital tree (b) Treap
(¢) Binomial Tree (d) 2-3 Tree
(ix) ﬁﬂﬁﬂqmmwmﬁﬁaﬁ@aﬁ%mmw% ?
(a) wEAOEAS (b) feiwe fore

(c) wdfera amg & & @ 3w

Which of the following is the efficient data structure for searching words in
dictionaries ?

(a) Binary Search Tree (b) Linked List

(c) Balanced Binary Search Tree(d) Trie

(x) W@mmmmm%mi%mm%u

(a) ATl Y3 ATER T (b) Tt dd wiidee T

() +eadh wll (d) =ifén

Dijkstra’s algorithm is used to solve problems.

(a) All pair shortest path (b) Single source shortest path

(c) Network flow (d) Sorting (1x10)

P.T.O.
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13.

14.

15.

Yo - ot
Section - B
sHegfer | uerfrem 6 samen # |
What is an algorithm in computing ? Explain.

UETITYs 61 2139 HIrAREd] H THHTEY |

What is time complexity of Algorithm ? Explain.

HAFIH GI2 TAIIH &1 G0 |

What is selection sort Algorithm ? Explain.

fafasw g4 3t "t 94 9 3 fod |

Write difference between linear search and binary search.
faéfera o @0 2 7 smen % |

What is directed graph ? Explain.

fae 2ae @ 2 2 wwEEw |

What is symbol table ? Explain.

gAaw wafam & i afamn forg |

Write definition of minimum spanning tree.

afdn % foru wets e &1 argatt § i 7 wiafda e s 2 2

Why not each character is converted to binary for searching ?

JaE -t
Section — C
vsHgFRe 211 2199 1 farga samEm i |
Explain Abstract Data Type in detail.

aifén waensii & 7t 4 fease 3t i veifiygs 3 392m ° 3 2 2 g9 |

How divide and conquer algorithm is used to solve sorting problems ? Explain.

Hafera argdt 54 &1 31 35! Hravawal # GRS |

Explain balanced binary search tree and its need.

fesraegr vemifiym &1 392 we aweEn i & g o fre wHR a2 7 augEd |
How Dijkstra’s Algorithm is used to solve graph problems ? Explain.
fgfera st sfEfora w1 fan i sawen #5t |

Explain difference between directed and undirected graph.

291 ¢t | 291 HawA ) a1 yftes @ 7 wweey |

What is role of Hash functions in Hash table ? Explain.
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